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(Key Question)  Corporations often distribute profits to their shareholders in the form of dividends, which are simply checks mailed out to shareholders.  Suppose that you have the chance to buy a share in a fashion company called Rogue Designs for $35 and that the company will pay dividends of $2 per year on that share every year.  What is the annual percentage rate of return?  Next, suppose that you and other investors could get a 12 percent per year rate of return by owning the stocks of other very similar fashion companies.  If investors only care about rates of return, what should happen to the share price of Rogue Designs?  (Hint: This is an arbitrage situation.)


A yearly dividend of $2 on a $35 share of stock equals a 5.71% annual rate of return ($2/$35 = .0571 = 5.71%).


If stocks returning 12 percent annual rates of return became available, investors would sell shares of Rogue Designs and buy shares in companies earning the 12% return.  This would cause the price of Rogue Designs stock to fall.  Note that as the stock price falls, the annual percentage return from owning Rogue Designs stock will rise, assuming the $2 annual dividend continues.  Eventually the rates of return of the two (or more) similar companies should equalize.
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(Key Question)  Why is it reasonable to ignore diversifiable risk and care only about non-diversifiable risk?  What about an investor who puts all of his money into only a single risky stock.  Can he properly ignore diversifiable risk?


It is reasonable to ignore diversifiable risk if the investor’s portfolio is already diversified.  By investing in different types of assets, diversifiable (idiosyncratic) risk can be reduced or eliminated, so that for future investments the only concerns are the non-diversifiable (systemic) risks.  An investor who puts all of his money into a single risky stock has ignored diversifiable risk, and thus still faces both that and non-diversifiable risk.
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(Key Question)   If we compare the betas of various investment opportunities, why do the assets that have the highest betas also have higher average expected rates of return?


The assets with the highest betas are the most risky.  Potential investors in these assets will only do so if they are compensated for taking on that expected risk.  Investors will insist on paying lower prices for riskier assets, and lower prices mean higher rates of return.
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(Key Question) Consider the Security Market Line (SML).  What determines its vertical intercept?  What determines its slope?  And what will happen to an asset’s price if it initially plots onto a point above the SML?


The vertical intercept is the risk-free interest rate (the rate on short-term U.S. government bonds) that is determined by Federal Reserve monetary policy.


The slope of the SML depends on investor feelings about risk and the compensation they require for assuming that risk.  If investors strongly dislike risk and require much greater compensation, the SML will be steeper than if investors are less concerned about risk.


An asset plotting above the SML will be earning a higher rate than the average expected rate of return for similar investments.  Investors will be attracted to that investment, and through the process of arbitrage, demand for the investment will increase, raising the price of asset and lowering its expected rate of return.

